6 Jean put % cup of yogurt on top of each bowl of fruit she made. She made 10 bowls of fruit.

a. Write an expression that shows the amount, in cups, of yogurt that Jean put on all 10 bowls
of fruit.

b. In your Student Answer Booklet, draw a fraction model to show the amount, in cups, of
yogurt that Jean put on all 10 bowls of fruit.

Each bowl Jean made contained % cup of fruit.

c. What is the total number of cups of fruit in all 10 bowls Jean made? Write your answer as
a mixed number. Show your work.



